Efficiency vs P,

~ 0.7 " T
2 : : :
L Q.09F------eurtrreeens R RRECEREEEEE
> : : :
2 0.08F---rerrmirrrnae [REEEEEEEEE RRECEEEEEEE
9] : : :
0.07F--r--erreminmreenees R ARRECEREEEEE
0.06F------mrrinmreneeesns ------- ------------
Y SRS A A 1 S —

0.04 I O RN Ja

e

0.03 --%-%-1'. T -"---é ------------
LB e

107 1 10 prT (Ge\})o3

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

g
8 S
RN LR RARE RN

Ratio

Efficiency vs ¢

o 0.1-
o F
>‘0.09 ;
2 ]
$0.08 :
o .
£0.07E
o :

0.06F

Ratio
P
N

Hr T -+ <+
-+ -+ P
1Het—4 4444144 P




	Contents
	Page 1


